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. Which shape comes next?
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How many more hats will make 207?

(1) 9 @2 -1

(3 13 (4) 15 (
10. Which is equal to 18?

(1) 2x9 (2 28-20
8) 3x4 (4) 10+9 (
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11.

12.

18s

Plant A

Plant B is units shorter than Plant A.

(1 1 2
(3) 3 (4) 4

What is the missing number?

(1) 30 2) 20
3) 15 4) 10

The number 27 comes before

(1) 26 2) 27
(3) 28 4) 29

Plant B
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14. 10 is 2 groups of

(1) -4
3) 6
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15. What are these shapes?

a) [ b)

16. a) 4 morethan25is

b) 2lessthan 16is

17. 5+D=20—4
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18. Colour the 7th flower.

REREFRRRE

19. Write a multiplication sentence.

L JOLJ-[]

20.

Each \/ represents 1 animal

a) The most popular pet is the

b)  The least popular pet is the
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21. Write in words.

Y
W]

22. What comes next?

16 885817 §3°%87 18 $33%8°9

23. Which 2 numbers make 277
Colour them.

B

97777777207 757557 53077777771y Pencil

24,

If 1 Gz s as long as 4 marbles, the French loaf is
as long as marbles.
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25. 38 - = 28

26. Count and write the numbers in the boxes.
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27,

Mara
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Carin @@@@@
o [§ 866500

Each @ represents 1 ice cream

a)

c)

Simon sold
Carin.

They sold

more ice creams than

sold the fewest ice creams.

ice creams altogether.
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28. There are 3 stickers in 1 box of candy. Mark buys 3
such boxes. How many stickers does he get?
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29. Muthu has a rope which is 12 m long. Susan’s rope is
5 m shorter. How long is Susan’s rope?
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30. Norma has 25 chickens on her farm. Telly has 12. How
many chickens do they have altogether?
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Choose the correct answer and write its number in the
brackets.

1. The missing number is

ORONOXO

(1) 27 (2) 28
(3) 29 4) 32 (

2. 20 and 8 make

(1) 24 (2) 25
(3) 27 (4) 28 (
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(1) 30 (2) 25
(3) 20 4) 15 (
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(3) 28 (4) 18 (

7th
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Jacob chose this sandwich

Which sandwich did Jacob choose?

(1) 3rd (2) 4th
(3) 5th (4) T7th (
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